
TABLE of INTEGRALS

∫
xadx =

1
a+ 1

xa+1 + C, a 6= −1
∫

1
x
dx = ln |x|+ C = ln |kx|, C = ln k

∫
eaxdx =

1
a
eax + C

∫
axdx =

1
ln a

ax + C, a 6= 1

∫
sinx dx = − cosx+ C

∫
cosx dx = sinx+ C

∫
sec2 x dx = tanx+ C

∫
cosec2x dx = − cotx+ C

∫
tanx dx = ln | secx|+ C

∫
cotx dx = ln | sinx|+ C

∫
secx dx = ln | secx+ tanx|+ C

∫
cosec x dx = ln |cosec x− cotx|+ C

∫
sinhx dx = coshx+ C

∫
coshx dx = sinhx+ C

∫
sech2x dx = tanhx+ C

∫
cosech2x dx = − cothx+ C

∫
dx

1 + x2
= tan−1 x+ C, a > 0

∫
dx

1− x2
=

1
2

ln
∣∣∣∣1 + x

1− x

∣∣∣∣+ C, x2 6= 1

∫
dx

1− x2
= tanh−1 x+ C, |x| < 1

∫
dx

1− x2
= coth−1 x+ C, |x| > 1

∫
dx√

(1− x2)
= sin−1 x+ C = − cos−1 x+ C ′, |x| ≤ 1

∫
dx√

(x2 + 1)
= sinh−1 x+ C = ln (x+

√
(x2 + 1) + C ′

∫
dx√

(x2 − 1)
= cosh−1 x+ C,= ln (x+

√
(x2 − 1)) + C ′ x ≥ 1

Im,n =
∫

sinm x cosn x dx =
sinm+1 x cosn−1 x

m+ n
+

n− 1
m+ n

Im,(n−2)

= − sinm−1 x cosn+1 x

m+ n
+
m− 1
m+ n

I(m−2),n
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